Advanced Animal Breeding

Study Questions- set 2
Q1. In a cattle herd 100 bulls and 400 cows are used to produce the following generation. What is the effective population size? What would be the effective population size if 500 cows were all artificially inseminated by a single bull?

Q2. For the following pedigree:

1. Using the path method, compute Wright’s coefficient of relationship between animals D and F and E and F and the inbreeding coefficient of animal X.

2. Solve the previous part using the tabular method. 
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